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Rhombuses :
1. Please find the values of g, x. and y in rhombus ABCD. 5
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2. ROBSis arhombus. Please solve fora, b, and c.
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diagonals bisect angles
3. Inrhombus PINK, Pl = 3x +7 and IN = x +19, what is the length of NK ?
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4. Quadrilateral TVWX is a rhombus.
a. Please find m4TzZV.

|: 90° l (dwagonals are 1) 2

b. Please find the value of a.
14g+20-q0  (diagonals are 1)

4g=10
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c. Please find mz£ZTX.
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In the diagram below, PQRS is a rhombus with diagonals PR and SQ. If m£SPQ= 8x - 14 and
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mZ1=3x+ 3, then find mZSPQ.
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p dagonait are L/ use Pythag thm o find Sde lenghg
6. The diagonals of a rhombus have lengths of 16 and 30. Please find the perimeter of the
rhombus.
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Rectangles and Squares :

7. Inrectangle ABCD, AB = 7x— 3, BC =2, and CD = 4x + 9. Please sketch rectangle ABCD and find

the perimeter. 8 2 . C
Tx-3 2 4x+9 AB=T(4)-3 P=25+2S+4
3A=\2 2 9¢ W x-3 x+4
\E T AT 2 b
8. ABCD s a rectangle and m/B=(8x+26)°. What is the value of x?
gn+20 =40 Can angies In a rectungle are 40°
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9. In rectangle MATH, diagonal MT = 2x +12 and diagonal AH = 3x +2. What is the length of MT?
2x412=2At2 MT = 2(10) t12
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10. In rectangle ABCD, diagonals AC and BD intersect at point E. If AE = 20 and BE = x + 15, please
solve for x.

40= 2x 30
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11. In the diagram to the right, DEFG is a square with diagonals GE and DF.
a. If DE=5x—14 and EF = 3x— 6, please solve for x.
bx-14=3x-b  (an Swdet are ¥)
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b. If DF =2y —17 and GE = 28 — 3y, please find the value of y.
24-17+= 2%-3 k. awagonals are E
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c. Whatis the mz4? l '
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d. If mzDHE = (6x + 18)°, please solve for x.
Lrt1€=90  (dwagonal are 1)
bR=12
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Trapezoids :
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The following quadrilaterals are trapezoids. Please solve for the variable. mtdsegt F) (bOSC + baS()
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16. STPH is an isosceles trapezoid. Please solve for a and b.
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17. In quadrilateral ABFE, the diagonals intersect at point M. If AM = 10.6 and FM = 14.8. Please find
the length of diagonal BE.

AF = 10.6+ 40
AF=754

ll’-JE=26.W }

18. Please find the measures of all missing angles in the following quadrilateral.

FsG M<E-4q° LU
- M<F 2 16049 = 131° AneaQ - 360
LY S By e ax: 369
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Kites :

19. WEST is a kite. Please find mZE and m/T.

300-98-29 = 230 +2: 118" op  xeX49$+397 300

uaq.ﬁﬂlllli;§u; “iEenE | QXY 144+ 300
me T=118°

p aAR=4%
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20. Given that RSTU is a kite, please find mZR .
126 ¥126 + 2X +30 = 360 mMeR = 4O +50
72X + 280 =300 |mLR’-’)0°
e
2K =80
x40
21. Please solve for x and find the mz£1.
34=4% X+48 +igd+ug= 30
W A+ 240 =360
LA
X=120

uy mel=120°

22. Given kite ABCD, please find
a. mzABC=_ 100"

b. mzCED=_90°

[v]
c. meDAB= 30

0
d. mepc= 4

23. Given kite DCBA, please soive for x and y.

D 3x412=6X ly-22=Ty-v
12=2% 4y = b
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Coordinate Proofs!

24. Determine if ABCD is an isosceles trapezoid using the slope
and distance formulas as needed. The coordinates of ABCD
are A(5, 0), B{0, 5}, C(4, 7) and D(7, 4).
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SO ABCD 1§ an tsosceles frapeoid
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